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Addition & Subtraction Word Problems

Complete the equations with the correct numbers.

Louis took away 6 cookies from a pack of 8 cookies. There are 2 cookies left in the pack.

There are 10 beads in a necklace. 7 are green and 3 are blue.
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Jack had 5 books. Now, he has 7 books, as he got 2 books from his friend.
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Rachel has 10 flowers in her garden. Next day, she found out that only 8 flowers are left, as someone
had plucked 2 flowers.

Jeff has 9 pencils. Now he is left with 4 pencils, as he distributed 5 of them to his classmates.




